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ERROR DETECTION
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Q1-20. In the following questions, read each part of the sentence 

to find out if there is any error in it. The error, if any, will be in one 

part of the sentence. The number of that part is the answer. If 

there is no error, mark your answer as (5).

1) The  boy was (a) / distributing (b) / the mangoes (c) / between 

his friends. (d)/ No error (e) 
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2) They are (a) / always careless (b) / in their (c) / duties .(d) / no error 
(e)
3) Miss Priyanka (a) / comes in (b) / a rich (c) / family .(d) / no error (e)
4) He will go (a) / there on (b) / tomorrow with (c) / his friends .(d) / 
no error (e)
5) There is (a) / an alliance (b) / in these (c) / three countries .(d) / no 
error (e)
6) What will (a) / you do (b) / with in (c) / the summer vacation ? (d) / 
no error (e)
7) He was (a) / surprised at (b) /as well as pleased by (c) / her 
performance .(d) / no error (e)
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8) The Poet (a) / describes about (b) / the beauty of (c) / nature .(d) / 
no error (e)
9) You suggested (a) / him that (b) / he should (c) / leave the place 
.(d) / no error (e)
10) Some persons (a) / get jobs even if (b) / they are not (c) / worthy 
for them .(d) / no error (e)
11) The bride (a) / said that she would not (b) / marry the man (c) / 
over thirty-five years .(d) / no error (e)
12) During his (a) / tour to the north (b) / he visited not only (c) / to 
Delhi but also Agra .(d) / no error (e)
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13) Despite of (a) / the best efforts made by the (b) / government the 
condition (c) / of the country is going from bad to worse .(d) / no error 
(e)
14) The man who (a) / was blind with the (b) / right eye was (c) / a 
notorious criminal .(d) / no error (e)
15) She has (a) / no other hobby (b) / but that of wearing a (c) / dress 
of the latest design .(d) / no error (e)
16) This book is undoubtedly (a) / preferable than that (b) / in many 
respects (c) / and its printing is also comparatively good .(d) / no error 
(e)
17) It is a fact (a) / that Mahatma Gandhi (b) / was the first politician 
(c) / of his time .(d) / no error (e)
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18) The first (a) / European sailor to come to India (b) /in 
modern times (c) / was Vasco-da –Gama .(d) / no error (e)
19) There was little (a) / milk in the bottle (b) /and she gave it 
to the baby (c) / when it started weeping .(d) / no error (e)
20) He found himself (a) / in a trouble (b) / when he saw no 
rickshaw (c) / outside the station .(d) / no error (e)
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